Sant Nirankari Public School Govind Puri
Summer Holiday Homework: Class VI
NUTRITION AND NOURISHMENT

Dear Parents,

We wish you and your child a very happy summer holidays. It's time to enjoy and create a
bond with family, friends and relatives. To utilize this time in the most constructive way we
have prepared Holiday Homework for the students on the principle of 'learning by doing' for
their holistic development.

Some important instructions:

> It's high time for all to be fit and active even by staying at home.

Daily exercise is must for all.

Eat healthy and avoid junk food.

Avoid heavy and oily food and increase intake of fresh fruits and water to keep you
well hydrated and energetic.

Read newspaper daily to enhance your writing skills and vocabulary.
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The holiday homework carries marks.
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All the activities are to be done as instructed.

Healthy food refers to food that contains the right amount of nutrients to keep our body fit.
Healthy food is also very delicious as opposed to popular thinking.Healthy food does not only
impact our physical health but mental health too. Nowadays, kids need to eat healthy food
more than ever. We must encourage good eating habits so that our future generations will
be healthy and fit.

Below are some fun activities on the theme: “Nutrition and Nourishment “

Activity | ENGLISH

Draw a poster and write a paragraph (100-150 Words) on ‘Say no to Junk Food’ Or ‘Healthy
Eating Habits’

Some examples are shared with you for reference. Use your own imagination.




Activity Il SCIENCE
Prepare a diet chart to provide balanced diet to a 10 year old child. With each dish
mention the nutrients present in it Ex. Paneer Paratha is rich in proteins and
carbohydrates. The diet chart should include food items which are not expensive and are
commonly available in your area.

Breakfast | Snacks Lunch
Monday
Tuesday

Wednesday

Thursday

Friday
Saturday

Sunday

Activity 11l SOCIAL SCIENCE

Identify the states that grow following crops — Rice, Wheat, Jowar and Bajra. Mark these
states on the political map of India

Activity IV MATHEMATICS

Mathematics

Ask your friends about their favourite drinks. Collect data and present the same in the
following table using the tally mark and draw a pictograph in creative way.

S.No. Favourite Drinks No. of Friends like Tally marks
1 Milk
2 Juice
3 Protein Shake
4 Green Tea
5 Lassi
6 You can add more

Activity VI HINDI
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Activity VIl COMPUTER

Prepare a PPT of at least 3 slides on “Healthy Eating Habits”. Share the soft copy of same.

Activity VIII ART

Make a plate of fruits and vegetables. For making fruits and vegetables use origami.
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SANT NIRANKARIPUBLIC SCHOOL, GOVINDPURI
SAMPLE PAPER, SESSION (2024-25)
CLASS- VI

SUBJECT-ENGLISH
TIME :2.5hrs MM-60

This paper has been divided into four sections:

SECTION A : READING - 8 MARKS
SECTION B : WRITING - 12 MARKS
SECTION C: GRAMMAR - 20 MARKS
SECTION D : LITERATURE -20 MARKS

GENERAL INSTRUCTIONS:
i.  All questions are compulsory.
ii. There should not be any overwriting or cutting
iii. Answers should be written neatly.
SECTION- A (READING)

1. Read the following passage carefully.lines carefully. [1x4=4 Marks]

Our ancestors had great difficulty in getting books. Now, our difficulty is what to read. There are
books and books but our hours of reading are very few. Therefore, choice becomes essential. We
should be very careful about what we read. There are books which poison our lives by suggesting
evils. We should keep them at arm’s length. We should read only those books which have stood the
test of time. Such books are our great classics like the Ramayana and the Gita. They contain the
wisdom of oursages and saints. They have appealed to mankind from generation to generation.
Reading of such books has ennobling influence on our mind and character. It gives us spiritual
enjoyment. These books give us instruction with entertainment. They represent our ancient
culture. They set before us high ideals to follow. They are ourbest friends, best guides and the best
treasure.

On the basis of your reading of the above passage, answer the questions that follow.

i. We should be selective because

a. there is a great number of books available to us
b. there is scarcity of books

c. there are only bad books in the market

d. none of the above.

ii. We should avoid those books which
a. cost high price

b. come in paperback

c. corrupt our lives by suggesting evils
d. come in more than one volume.

iii. The books which have stood the test of time are called....
a. great books

b. rare books

c. biographies

d. classics.



iv. What are special qualities of classics?

a. They affect our mind in a good way

b. They teach us something great and also entertain us.
c. They help us in our spiritual growth

d. All the above.

2. Read the poem carefully and answer the following questions: [1x4=4 Marks]

Robin sang so sweetly

When the days were bright.
“Thanks to God for summer days!”
He sang with all his might.

Robin sang so sweetly

In the autumn days:

“There is fruit for everyone;

Let us all give praise!”

In the wintry weather

Still we heard his song.

“Some little bird must sing,” he said,
“Or winter will seem too long.”
When the spring came back again
He sang, “I told you so!

Keep on singing through the winter:
It will always go.”

On the basis of your reading of the above poem, answer the questions that follow.
i. When does Robin sing with all his might?

a.inautumn b. in winter C.inspring d. in summer

ii. How does Robin sing?

a. politely b. happily c. sweetly d. sad
(1] P comes after winter.

iv. Make a sentence using the word- Praise

SECTION- B (WRITING)

3. Write a paragraph on the topic. [1x4=4 Marks]

Importance of Trees.
Or
My country my pride
4. Suppose you are the Cultural Incharge of the school. Write a notice informing about dance
competition to the students.
Or [1x3=3 Marks]

Suppose you are the Art Club Incharge of the school. Write a notice informing about painting
competition to the students.



5. Write a letter to your friend congratulating him on securing first position in the class.
Or [1x5=5 Marks]
Write a letter to your uncle thanking him for the birthday present that you received.
SECTION- C (GRAMMAR)

6. Select the correct answers from the options given.

i. Which of the following is an abstract noun? [1 Mark]
a.Students b. Vegetable c. Mobile d.Honesty

ii. Our grandmother told we an interesting story yesterday. [1 Mark]
a. us b. her c.l d. they

iii. “We are planning for a foreign trip this year” is a ........c......... type of sentence. [1 Mark]

a. Interrogative  b. Declarative c. Exclamatory d. Imperative

iv. Choose the correct uncountable noun. [1 Mark]
a. student b. register c. water d. apple
v. The captain of the ship was very brave, wasn’t he? [1 Mark]

Identify the type of question given above.
a. eco question b. yes-no question c. rhetorical question d. wh-question
vi. Choose the appropriate question for the given answer: [1 Mark]
They will reach to Delhi by 4:00pm.
a. When will they reach to Delhi?
b. When will they reachto Delhi.
c. When were they reach to Delhi?
d. When did they reach to Delhi.

vii. Fill in the blanks choosing the most suitable adjective: [1 Mark]
Please have .......ccc....... more rice, you have not taken much.
a.any b. some c.no d. several
viii. Fill in the blanks choosing the most suitable adverb: [1 Mark]
[ have .....ccvvenneee. finished the book.
a. neatly b. already c. sweetly d. regularly
ix. The sentence “Mohit has won the dance competition” is an example of: [1 Mark]

a. Present perfect tense b. Simple Present tense c. Past continuous tense d. Future perfect tense

x. Choose the correct option of a Simple future tense. [1 Mark]
a. We shall play. b. We played c. We will be playing d. We play

xi. Fill in the blanks with Simple present tense forms of verb given in bracket. [1 Mark]
Aradhya................. painting in her free time. (do)

a. does b. did c. do d. have done

xii. Fill in the blanks using Future continuous tenseof the verbs given in the bracket. [1 Mark]
Ram and Po0ja ....ccccceeveevevece e, for picnic. (go)

a. will be going b. are going c. shall go d. none of them

xiii. Choose the correct negative sentence for-

Radhika scored well in the final term. [1 Mark]



a. Radhika do not score well in the final term.

b. Radhika not scored well in the final term.

c. Radhika did not score well in the final term.

d. None of them

xiv. Choose the correct Passive for the given sentence. [1 Mark]

My mother is cooking food.

a. Food is being cooked by my mother.

b. Food is cooked by my mother.

c. Food cooked by my mother.

d. All are correct.

xv. Choose the correct Passive for the given sentence. [1 Mark]

The chief guest unfurled the flag.

a. The flag was unfurled by the chief guest.
b. The chief guest was unfurled the flag.

c. The flag unfurled by the chief guest.

d. The flag is unfurled by the chief guest.

xvi. Circle the subject and underline the predicate. [1X2=2 Marks]
a. Ritu is stitching a new dress.
b. The old picture of my family is misplaced.

xvii. Fill in the blanks using the singular or plural form of the nouns given in brackets.
[1x2=2 Marks]

a. Ramesh took his flock of........... (sheep) to the hills.
b. | bought a pair of ............... (jeans) from the market.
xviii. Fill in the blanks using correct reflexive pronoun. [1 Mark]

a. He solved his problem................

SECTION- D (LITERATURE)

7. Read the following lines carefully and answer the questions that follow.  [1x4=4 Marks]
The cherries came forth neath the sun’s glowing eye.
Shall | take them? A rosy young girl’s eager cry.
‘Oh my,yes,you can take,
I've kept them for your sake!’
Low bending its branches, the tree brought them nigh.
i. Name the poem from which these lines have been taken?
ii. What does the word ‘nigh’ means?
iii. Write two pair of rhyming words from the extract.
iv. Which literary term is used in the above lines.
8. Complete the sentences. (Any two) [1x2=2 Marks]
i. The baby squirrel was annoyed at .......ccoceeeverreerecnnens
ii. Ganga is considered a holy river as it was brought down to the earth from......................

iii. The dervish broke his jar because.................



9. Answer any two of the following questions in 20-30 words . [2x2=4 Marks]
i. What was the similarity between the husband and the dervish?
ii. Why did Mr.Mocking-bird win the competition?
iii. Why did King Bhagirath choose to do penance?

10. Answer any two of the following questions in 30-40 words. [3x2=6 Marks]
i. How did the dervish break his jar?
ii. Why were the Gods not happy with the sons of King Sagara?

iii. What are the consequences of a thunderstorm?
11. Answer any one of the following questions in 80-100 words. [4x1=4 Marks]
i. Is there any moral in the story ‘The Story of River Ganga’?

ii. Do you think that the religious man and the dervish were wrong in having plans about the future?
Do you plan your future?
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SUMMER HOLIDAY HOMEWORK (2024-25)
CLASS: VI
SUBJECT: MATHEMATICS
SAMPLE PAPER

TIME: 2.5 HRS M.M:60
GENERAL INSTRUCTIONS:

e This Question paper has Four sections: A, B, C and D.

e Section A has 26 MCQ carrying 1 mark each.

e Section B has 6 questions carrying 2 marks each.

e Section C has 4 questions carrying 3 marks each.

e Section D has 2 questions carrying 5 marks each.

SECTION-A(1x26 =26)

Q1. Multiple choice questions:

Vi.

Vii.

viii.

The smallest 4 digit number is

a. 100 b. 9999 c. 1099 d. 1000
The smallest prime number is
a. 0 b. 1 c. 2 d. None
Write Two lakh nine hundred six in number .
a. 200906 b. 209006 c. 29006 d. None
The Successor of 93579 is .
a. 93578 b. 93570 c. 93580 d. 103579
The straight angle is right angle.
a. One b. Two c. Three d. Four
The Sum of any two odd number is an number.
a. Odd b. Even c. Prime d. None
How many lines can be drawn through a given point?
a. One b. Two c. Infinite d. None
A figure which ends at the starting pointiscalleda __ figure.
a. Closed b. Open c. Polygon d. None

The Coefficient of x in -7xyz is

a. -7 b. -7y c. 7yz d. -7yz
The smallest whole numberis .

a. 0 b. 1 c. 2 d. 3



xi. A polygon with 6 sides is called a

a. Triangle b. Hexagon c. Pentagon d. None
xii.  Numbers which are divisible by 2 are called _ numbers.
a. Odd b. Even c. Prime d. Composite
Xiii. is neither prime nor composite number.
a. 0 b.1 c. 2 d. 3
Xiv. 239 +678 =678 +239isa property of whole number.
a. Closure b. Commutative c. Associative d. Additive
Xv. 67x78x344x0=___
a. 345678 b. 89765 c. 0 d. None
xvi.  Which of the following numbers are divisible by 9?
a. 305450 b. 10035 c. 21341 d. 987000
xvii. TheH.C.Fofl1l2and18is___ .
a. 2 b. 6 c. 18 d. 3
xviii.  Using tally marks, which one of the following represents the number 5?
a. b. vvvvv c. - d. HH-
xix.  If © represent 4 students then ©©O represent students.
a. 6 b. 8 c. 12 d. 10
xX.  The predecessor of -32 is
a. -31 b. -33 c. 34 d. None
xxi. A has two end points.
a. Ray b. Line c. Line Segment d. None
xxii. (-84)+(__ )=-12
a. 8 b. 7 c. =7 d. -8
xxiii.  Three or more points in a plane are always -
a. Collinear b. Non-collinear c. Angular d. None
xxiv.  The additive inverse of -5 is
a. -5 b. -4 c. 5 d. None
xxv.  The sum of 36 and (-52) is
a. -88 b. 16 c. -16 d. 88
xxvi.  An expression having two terms is called a
a. Monomial b. Binomial ¢. Trinomial d. None

SECTION-B(2x6 =12)

Q2. Find the prime factorization of 72.
Q3. Find the sum by suitable rearrangement:
127 +96 +73
Q4. Give two examples of parallel lines from your daily life.



Q5. Using number line, Find ( -3) + ( -4)

Q6. Write the number name in International system of numeration:
402385146

Q7. Ifa=2,b=-1andc =3, then find the value of 2ab + 3bc + 5ac

SECTION-C (3x4=12)

Q8. The sum of two integers is -440. If one of them is 179, find the other.

Q9. The HCF and LCM of two numbers are 4 and 48 respectively. If one number is 16, find the
other.

Q10. Name

i.  Allangles formed in the figure.

ii.  Name a point which is both in the interior of ZAPB and £APC.
Q11. Mrs. Soni donated 25 coolers to a children home. If the cost of each cooler is Rs 4775,
find the money spent on coolers by Mrs. Soni.

SECTION-D (2x5=10)

CASE STUDY BASED QUESTIONS

Q12. In the given figure, four main directions are shown as N(North), S(South), W(West) and
E(East): Two more directions, NW and NE are shown.

Based on the above, answer the following questions by selecting the correct option.



How many right angles are there between North and South?

a. 1 b. 2 c. 3 d. 4

How many right angles are there between North and West in clockwise direction?

a. 3 b. 2 c. 5 d. 1

How many right angles are there between West and South in anticlockwise direction?
a. 1 b. 2 c. 3 d. 4

How many right angles are there between NEand NW?

a. 2 b. 3 c. 4 d. 1

Three right angles equals to

a. 90° b. 180° c. 270° d. 360°

Q13. The sale of electric bulbs on different days of a week is shown below:

Days Number of bulbs
Monday B A A A
sy | PRLPPP PP E
Wednesday 3 jr : : -
Thursday \ I :, ; \Ls
© = 2 bulbs
Observe the pictograph and answer the following questions:
i.  How many bulbs were sold on Friday?
a. 10 b. 12 c. 14 d. 16
ii.  On which day maximum number of bulbs were sold?
a. Sunday b. Monday c. Friday d. Tuesday

If one bulb was sold at the rate of Rs 10, what was the total earning on Sunday?
a. Rs40 b. Rs90 c. Rs180 d. Rs100

Can you find out the total earning of the week?
a. Rs 860 b. Rs430 c. Rs200 d. None

If one big carton can hold 9 bulbs. How many cartons were needed in the given week?

a. Morethan7 b. Morethan8 c¢. Morethan9 d. More than 10



SANT NIRANKARI PUBLIC SCHOOL SAMPLE PAPER
SESSION (2023-2024)
SUBJECT — SOCIAL SCIENCE
CLASS-VI
M.M: 60
General instructions:
1. Read the question paper carefully.
2. The question paper has been divided into two sections:Section A-
Objective (20 marks)
Section B- Subjective (40 marks)
3. Both sections are compulsory.

SECTION — A (20 MARKS)

Q1. Fill in the blanks:
i. The period of man's past for which we have no written records is called
ii. The government in India works at levels.
iii. The Gram Panchayat is elected for a period of years.
iv. The planet which is knows as Evening or Morning star
v. Tropic of lies in the Sothern Hemisphere.

Q2. State whether True or False:
i. Humans started cultivation in Neolithic age.
ii. lron was the first metal discovered by humans.
iii. Urdu is an Indo-European language developed under Persian rule.
iv. Full moon is also known as Akash Ganga.
v. Kshatriyas were the traders, farmers and craftsmen.

Q3. Answer the following questions in one word:
i. Who wrote the book named ‘Indica’?
ii. Who has all the power in an absolute monarchy?
iii. When was the Universal Declaration of Human Rights adopted by the UN?
iv. Name the person who is a non-elected member of the Gram Panchayat.
v. Name the district level organ of local government.

Q4. Match the following:

i. Democracy a) Great Bear

ii. Jawahar Lal Nehru b) Equator

iii. Longest latitude c) Rule by the People
iv. Torrid d) Discovery of India
v. Ursa Major e) Heat zone

SECTION B (40 MARKS)

Q5. Define the following:
i. Chronology
ii. Archeologist

iii. Chalcolithic Age

(1x5= 5Marks)

(1x5= 5Marks)

(1x5=5 Marks)

(1x5=5 Marks)

(1X3=3 Marks)



Q6. Draw any one of the following diagram: (3X1=3 Marks)
i. Cycle of seasons
ii. Change of day and night

Q7. Look at the following pictures and answer the questions: (1x2=2Marks)

i. Name the important latitudes with their degrees.

ii. Describe the following picture:

Q8. Read the case study given below and answer the following questions: (3x2=6 Marks)

A. A Harappan city was a very busy place. There were people who planned the construction of special buildings in
the city. These were probably the rulers. It is likely that the rulers sent people to distant lands to get metal,
precious stones, and other things that they wanted. They may have kept the most valuable objects, such as
ornaments of gold and silver, or beautiful beads, for themselves. And there were scribes, people who knew how
to write, who helped prepare the seals, and perhaps wrote on other materials that have not survived.

Besides, there were men and women, craftspersons, making all kinds of things — either in their own homes, or in
special workshops. People were travelling to distant lands or returning with raw materials and, perhaps, stories.
Many terracotta toys have been found and children must have played with these.

i. The people who planned the construction of the cities were:

a) Rulers b) Scribes c) Travelers d).None of them
ii. The scribes were the people who could
a). Construct b) Play c) Read and write d) Rule

iii. What did the craftspersons do?



B. After their arrival, the Aryans settled in the region of the declining Indus Valley Civilisation, i.e.,
around the river Indus in Punjab. This is proved by the fact that the rivers Kurman, Kabul and the
western tributaries of the Indus are mentioned in the Rigveda. Gradually, they moved eastwards along
the river Ganga. Finally, they settled in the region between the rivers Ganga and Yamuna- the area
known as the Ganga-Yamuna Doab. The Aryans brought with the horses and chariots. They subjugated
the original inhabitants of the Ganga-Yamuna Doab and reduced them to the status of slaves or dasyus
who performed all the menial jobs.

i. Where did the Aryans settled first in India?
ii.What did the Aryans brought with them?
ii. Who were called Dasyus?

Q9. Answer each of the following questions in 30-40 words: (2x3=6 Marks)
i. Mention any two features of democracy.
ii. Define rotation. What is the speed of rotation at the Equator?

Q10. Answer each of the following questions in 40-60 words: (3x2=6 Marks)
i. Describe any three functions of gram panchayat.
ii. What was the use of seals in the Harappan Civilisation?
Or
What was the Great Bath? Describe its features.

Q11. Answer the following questions in detail: (5%x2=10 Marks)
i. How is summer solstice different form winter solstice?
ii. State some instances of diversity in our country.
Q10. Mark the any four Neolithic sites on the outline map of India. (0.5x4=2 Marks)
i. Mehergarh ii. Chirand iii. Burzahom iv. Paiyampalli

v. Utnur vi. Nagarjunakonda



SANT NIRANKARI PUBLIC SCHOOL, GOVIND PURI
SAMPLE PAPER
SUBJECT- SCIENCE

CLASS- VI
TIME: 3 Hrs M.M: 60 Marks
General Instructions:
e Section Ais objective and is of 36 Marks
e Section B is subjective and is of 24 Marks
e All questions are compulsory

SECTION-A (OBJECTIVE)

Q1. Choose the correct option:- (1x12=12M)
i.  Which of the following is the quickest source of energy?
a) Starch b) Proteins
c) sugar d) fats
ii.  Which of the following is an energy giving food?
a) Pulses b) Wheat
c) Spinach d) Vegetables
iii.  Citrus fruits are a rich source of .
a) Vitamin D b) Vitamin C
c) Vitamin A d) none of these
iv.  Motion which repeats itself after regular time intervals is called motion.
a) circular b) rotational
c) periodic d) none of these
v.  The basic standard unit of length is :
a) Kilometre b) metre
c) centimetre d) millimetre
Vi. emit light naturally.
a) candles b) electric bulbs
c) lamps d) stars
vii.  Objects through which light can pass partially are called objects.
a) opaque b) Transparent
c) translucent d) none of these
viii.  Which part of flower turns into a fruit?
a) Sepal b) anther
c) stigma d) ovary
ix.  Reticulate Venation is not found in :
a) mango b) peepal
c) canna d) plum
X. maintains balance of oxygen and carbon di oxide in nature.
a) Respiration b) Photosynthesis
c) green house gases d) Both (a) and (b)
xi.  Underwater plants have:

a) stomata on the upper surface of their leaves
b) stomata on underside of their leaves

c) stomata on both surface of leaves

d) no stomata



xii.  Due to presence of which gas in air does lime water turn milky?
a) oxygen b) nitrogen

c) carbon dioxide d) methane

Q2. Fill in the blanks:- (1X6=6M)
i. is caused by the deficiency of Vitamin D.

ii. Invention of made a great change in modes of transport.

iii. absorb water and minerals from the soil.

iv.  Pollen grain contain

v.  Deforestation affects cycle.
vi. Airis on the mountain as compared to plains.
Q3. Answer the following in One word:- (1X6=6M)

i.  Avitamin required for maintaining good eyesight.
ii. Motion of a child on a swing.
iii. Fastest thing to travel in universe.
iv.  Arrangement of veins in a leaf.

V. Blanket of air surrounding the Earth.
Vi. A green house gas.
Q4. State the following statements are true or false (1X6=6M)

i.  An athlete will have different food requirements than a school teacher.
ii. You cannot see through a bent tube.
iii.  You can see a shadow without the screen.
iv.  Flowers are the reproductive organs of plants.
v. The atmosphere helps to maintain the right temperature on the Earth.
Vi. A ballon blown with air is heavier than the balloon which is not blown with air.

Q5. Case Study: Read the passage and answer the following questions:

A. The most common instrument to measure length is metre scale. When taking
measurements with a metre scale, check the ruler. It should be smooth edges with no

missing markings. It should be kept straight along the edges of the object to be measured.
(1x3=3M)

i.  The most common instrument to measure the length is the:
a) metre scale b) thread
c) compass d) none of these
ii. ~ Which one out of these is a standard unit of measurement?
a) Finger b) fist
c) step d) inch
iii.  While making observations, reading should always be taken:
a) from one side b) keeping the eye at an angle

c) keeping the eye straight d) any of these



Q7.

Qs8..

iv.

B. The part of leaf by which it is attached to the stem is called petiole. The broad, green part
of the leaf is called lamina.The lines on the leaf are calledVeins. A prominent line in the
middle of theleaf is calledthe midrib. Thedesign made byveins in a leaf iscalled the leaf
venation. If this design isNet-like on both sides of midrib, thevenation is reticulate. Inthe
leaves of grass you might have seen that the veins are parallel to one another. This is
parallel venation. (1x3=3M)

The middle line of the leaf is called

a) Lamina b) Petiole
c) Vein d) Midrib
is the green part on the leaf?

a) Venation b) Midrib
c) Petiole d) Lamina

When the veins of Leaves of Grass are parallel to each other. It is called
a) Parallel venation b) Reticulate venation

c)Midrib d) None of the above

SECTION-B (SUBJECTIVE)

_Answer the following questions carry 2 marks each - (2x6=12M)

. Explain the term Balanced Diet.

i. What is Obesity? How does it harm body?

i. Draw the diagram of the leaf & label its parts.

. What do you mean by periodic motion? Explain with the help of an example.

When is a Shadow formed?

. Why are plants called the producers of oxygen?

Answer the following questions carry 3 marks each - (3X4=12M)

The distance between Radha’s home and her school is 3250 m. Express this distance in km.
Also give two examples of land and air transport.

Write an experiment to show that leaves contain starch.
How does a solar eclipse occur? Show with a suitable diagram.

How will you show presence of water vapour in air?
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SANT NIRANKARI PUBLIC SCHOOL
SAMPLE PAPER-1
SUBJECT : COMPUTER

CLASS - VI
Chapters: 1,2,3,4,5 Time O1hr, 30 Mins
Student Name

1. Fillin the blanks: [ 8%0.5=4]
(InLine,, First, 2, Double tick, Double blue tick ,Draft, Attachment, Filter Paragraph, Merging , Splitting,)
a) Tables are easier to understand as compared to a ---------------- .
b) You need to select multiple cells for ---------------- but single cell for ---------------- .
c) Default text wrapping of images in MS Word is ---------------- .
d) By default, the --------------- column is considered as basis for sorting the data.
e) The ---------=-=--- operation hides the unwanted data in the data set.
f) The data can be sorted in --------------- directions.
g) A/an —----—----—-- can be sent along with an email message only.
h) ------—--———- folder holds an email saved to be sent later.

2. Choose the correct answer. [10x0.5=5 ]

a) Which of the following is not a valid way to insert a table in MS Word document?

a) Draw table D b) Insert table D
¢) Quick table [] d) None of these []
b) Which tab is used to apply styles on the table in MS Word?
a) Alignment D b) Format D
c) Table Styles D d) Table Tools D

¢) Anu has a table to store names, birth dates and addresses of 20 persons. What should she do to add
hobbies for each person and add details of 5 more persons?

a) Split cells D b) Insert column D
c) Insert rows D d) Both b) and c) D
d) Which of the following can be viewed from any angle?
a) Icons D b) 3D Objects D
c) WordArt D d)SmartArt D
e) Pictures, icons, shapes, SmartArt, etc. are collectively called ----------------- .
a) lllustrations D b) Multimedia D
c¢) Graphics D d) Library D
f) Email message to be sent later is saved in which of the following folders?
a)Outbox [] b) Draft []




[

c) Inbox D d) Trash
g) Predesigned content to appear at the end of the email message is called -------------- .

a) Attachment [] b) Bcc

OO

c) Reply ] d)Signature
h) Simple formatting of messages in chat is done by the help of which of the following?

a) Markdown [] b) Markup

OO

c)Smart drafting D d) Emoticons
i) Rajiv shared his friend’s tweet on Twitter with others. His action will be said which of the following?

a) Post L] b) Forward

OO

c) Tweet [] d) Retweet
j) Which of the following can be created by anyone with least technical knowledge?

a) Website D b) Videos

OO

c) Social media platform L] d)Blog

3. Identify the following statements as true or false. Find out the true fact about the false statements. [ 5x 1]
a) Pressing tab key inside a table will increase the width of the cell.
b) Splitting a cell may distort the shape of the table.
c¢) Flowcharts symbols can be inserted using icons library
d) Cropping changes the dimensions of the image.
e) WordArt can be formatted just like other shapes.
4. How will you do the following? [2.5]
i. Insert a table using Insert Table dialog box.
ii. Apply borders on the table.
iii. Crop an image.
iv. Put the image behind the text.
v. Apply fill colour and outline colour on WordArt.

5. Correct the flow of email message in the following figure: [4.5]

a) Go to Drafts folder. ----

b) Reply the email message. ----

c) Compose the email message. ----

d) Click on attachment and attach files. ----

e) Save the email message to be sent later. ----
f) Download attachment. ----

g) Reopen the email message. ----

h) Click on the email message to read it. ----

i) end the email message. ----




6. Match the terms with their correct explanation [ 8x0.5=4]

Effect Type
1. Push a. Motion Path animation
2. Pan b. Entrance animation
3. Peeloff C. Exciting transition
4. Bounce d. Exit animation
5. Pulse e. Dynamic Content transition
6. Arcs f. Emphasis animation
7. Turnable g.  Subtle transition
8. Float out h. 3D animation
7. Answer the following questions. [10x2=20]
1. What is slide transition? List various types of transition effects with one effect name each.
2. What is Animation? List various types of animation effects with one effect name each.
3. What is the use of action buttons?
4. Briefly describe any 3 settings you do while setting up a slide show.
5. List any 3 advantages of email.
6. Briefly, describe the structure of an email message.
7. List any 4 features of instant messaging services and briefly, describe any 2.

8. What are the advantages and misgivings of social media platforms?
9. What do you mean by blogging and video conferencing?

10. What are the steps to split and merge cells in a table?




